Test A.P.Caculus Sections6.1—6.6

1—6. Multiple Choice

1. jcoszxsinxdx =

(A)
(B)
(®)
(D)

(E)

(A)
(B)
(®)
(D)
(E)

cos’xsin? x

cos®x
3

+C

+C
6

sin® x

2

cos*x

+C

+C

cos’xsin® x
== "4
6

C

None of these

Name




4. Suppose that you approximate the areaunder g(x) =sin(x) + 2

onthedomain £ < x <3 with n =4 subintervals, using right-hand endpoints.

The width of each interval would be:
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6. Solvethe differential equation % =(sinx)(5+ SCosx)3
giventhaty = 0 when x = 0.
(A) y=-%(5+ SCosx)4
(B) y =—21(5+5c0sx)* +2,500
(C) y =%(5+5cosx)" —2,500
(D) y =—4(5+5c0sx)" +500
(E) y =4 (5+5cosx)" —500



7—16. Free Response SHOW ALL WORK on your own paper —Do NOT write on the
test paper for any problemsin this section except for #16.

7. Usefour rectangles of equal width to approximate the area under the curve
f(x) =20+ x—x*> overtheinterval 0<x<4 (useleft-hand endpoints).

8. Determine the exact area between the curve y = 2x and the x-axis over theinterval
0<x<4. Usecircumscribed rectangles (right-hand endpointsin this problem) and
apply alimit.

Y ou will need to apply one of the following:

1+2+3+...+n= n(n2+1)

n(n+1)(2n+1
P+22+3F +..+n° = ( )6( )

Determine the area between the curve y = x> —4 and the x-axis
from x=0 to x=4.
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10. Evauate J'seczxdx:
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11. Evauate J(6x2 +£2j =
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12. Evaluate j XX
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13. Evaluate I|2x—4|dx =
1

Y ou must show ALL WORK, and you must use calculusto solve!

14. Prove by induction:
Prove. 2+4+6+..+2n=n(n+1)

15. Solve the differential equation % =—e”, giventhaty(0) =6

16. Draw aslopefield for the differential equation % =2-Yy
X

Y

4
Extra Credit (5 points) Evaluate J](3i-1)=

i=2



